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Question 1

Write explanatory notes on any five of the following concepts

i) The major differences between the NPV and IRR methods

ii) Contingent projects and mutually exclusive projects

iii) Sensitivity Analysis

iv) Time value of money

V) Numeric and non-numeric models

vi) Project and programme [5 marks each]

Question 2

»~

a) What are the main features of the Critical Path Method (CPM) as a project planning
and control technique? [5 marks]

b) “Projects are a necessary ingredient to planning, and so is planning to projects”,
explain the logic of this statement. [5 marks]

c) What is the project life cycle? Discuss the various phases of the project life cycle and
explain why the first stage is regarded as an integral part of project planning?

[15 marks]

Question 3

a) Justify the case for project analysis and appraisal as part of the wider framework
of project planning and management. [10 marks]



b} A firm is considering buying a jet aircraft, and may choose between a Mistrale
and a Giselle. It expects the benefits of either aircraft to be E300, 000 a year for
years 1-3 and E250, 000 a year for 4 & 5.

The costs of each aircraft are:

Giselle Mistrale
Purchase price E250, 000 E150, 000
Annual running costs E200, 000 E220, 000
Major overhaul - year 3 E100, 000 -
-years 2 & 4 - ES0, 000
Disposal proceeds {year 5) E75, 000 50, 000

The firm estimates it costs of capital at 10%. Using the NPV method,

Which aircraft should be purchased? (Your answer should be supported by
appropriate calculations) ' [15 marks]

c) A firm is reviewing an investment opportunity using the NPV criterion. It expects
that it will have to invest E2 million at the start of the project. There will also be
clearance costs at the end of the project (year 6) of E500, 000.

Cash flows of the project {in £ 000} are expected to be:

Year 1 2 3 4 ]
Sales revenue 1,000 1, 250 1, 400 1,500 1,800
Operating costs 650 600 600 625 750
Required

If the firm requires a return of 20% on investment, should the project be undertaken?
[15 marks]



Question 4

a) Acompany makes a product which sells for E15, while the variable cost per unit is
E5, which covers labour and material. The fixed cost total is E75, 000 per annum
which covers all the overhead costs. Using Break Even Analysis:

i) Calculate the break even point and draw diagrams to show all the costs and break
even point. {10 marks]

ii} Assume the company is anticipating to produce 12,000 units, would you advise it to
make this investment? Justify your answer by determining either a loss or profit
associated with this amount of investment. [5 marks]

b} What kinds of projects are best suited to break even analysis? What are the
shortcomings of this technique? [10 marks]

~

Question 5

a} A firm is considering a proposal to manufacture widgets. There are two possible
ways of entering the market.
Proposal 1

Develop a new factory. This will cost £2,500,000. Other cashflows are:-

Year 1 2 3 4 5
Sales 1000 1500 2000 4000 6000
Other costs 750 1000 1500 1000 1200
Proposal 2

Buy an established company. This will have a cost of 4,000,000

Year 1 ) 2 3 4 5
Sales 2000 2500 2750 4000 6000
Other costs 1250 1200 1400 1000 1200

The firm estimates its cost of capital at 8%. Which proposal (if either) should be
accepted? Use the net present value method. [18 marks]

b} Discuss the disadvantages of the Payback Period Method (PBP), and explain what
improvement the discounted PBP brings to the effectiveness of this measure?

[7 marks]
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APPENDIX C
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